HMS Focal Plane study

HMS single arm runs with sieve and carbon target. Detect electrons.
Use Cerenkov and calorimeter to select electrons.
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1136 2221 -1. 6 -2 +3.5mm +3.5mm
1337 6430 -3.2 -22 -Imm -Imm
1528 10600 -5.816 -18.5 -1Imm -1mm



Beam and HMS vertical coordinate system
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+Yepic Survey measured HMS optics line is 1mm
vertically above the beam line
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1136 +3.5mm +3.5mm -2.5mm +8.5mm
1337 -1mm -Imm +2mm -6.8mm
1528 -1mm -1mm +2mm -6.8mm
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XslevevsYsieve

Run 1528 Run 1136
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Offset inX_sievecaused by not including the beam position
Xptar= 1* Xtarso expect 4mr oKsieveshift of 0.7cm
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Fit XfpversusYfp



